0-0001

[@NecoNe]
o~

©

06.01.01(0)

(011015

)

[cNeoNololoNoNoNeNe]
QOO PFrRPWUIORFRO®

0 %

5%




0-0002

1

00
12 m3 0O -0001

00

7 m3 0O -0002
00

3 mg3 0O -0005
00

9. 0km )

2 m3 0O -0006

2 m{3

1




0-0003

3 00
18-8-40
100. 4 m 0 -0007
1
00
’ ’ 20 m2 0 -0011
00
31 m2 0 -0012
00
1 30m2
t=10mm
0. 2m2 0 -0010
1
1
00
174 mp 0 -0014
00
174 m2 0 -0016




0-0004

| 00
22x1524x3048,802kg/
| 22
38 -0017
00
91 -0018
00
91 -0019
3 00
22x1524x3048,802kg/
| 18
20 -0020
1
( ) 00
2.5m 4. 0m
17 -0021
00
19 -0022
00
( )
17 -0001
00
| ( )
DI D 12.0km (9.0km )
| 17 - 0006




0-0005

17
( : 00
10k m
12m

1 0 -00214
, 00

1 0O -0026




0-0006




m >
o

Q -

SPK23040001 0 -0001
)
.98 % ; 69.33% ; 8.69% ; 0.00%
( ) ( ) ( ) (
) ( )
21.98% 2
. 10m3 0. 13/ 0.10m3
( )
69.33%
4 KL 8.69%
B=5 ( )




0-0008
0 -0002

0-00083
1*1.1111

0-0004

w

o>
i
P o
O w
i
onN




(
69 .

SPK23040007

33 %

. 98%

.33 %




0-0010

( 0O -0004
10 m3

.20
. 68
.00

3

3

B=2

oOr
(620 o




SPK23040002 0 -0005
) DI D 0.3km 1 m3
19.19% : 71.06% : 9.75% : 0.00%
( ) ( ) ( ) ( )
] [ ] MTPCOOO ]
19.19% 2t MTPTOOO 1
( ) ) ( ( ) )
( ) RTPCOO0O(Q
71.06% RTPTO000(
TTPCOOO 1
, 2 4KL 9.75% TTPT0O00O 1
EPOO1
A=2 B=6 0. 13m3( 0. 1m3)
c=1 ( ) D=1 DI D
F=2 0.3km

~N ~




N

SPK23040002 0 -0006
) DI D 12.0km (9.0km ) 1 m3
19.19% : 71.06% : 9.75% : 0.00%
( ) ( ) ( ) ( )
] [ ] MTPCOOO ]
19.19% 2t MTPTOOO 1
( ) ) ( ( ) )
( ) RTPCO0O0O
71.06% RTPT000Q
TTPCOOO 1
, 2 4KL 9.75% TTPT0O00O 1
EPOO1
A=2 B=6 0. 13m3( 0. 1m3)
c=1 ( ) D=1 DI D
F=4

~N ~




0-0013

0O -0007
18-8-40 10 m
0-0008
18-8-40B8B .6 7m
0-00009
. 08m
0-0010
1 30m2 .07m
t=10mm




SPK23040154 0O -0008
18-8-40BB
: 0. 00% : 44. 86% : 55.14% : 0. 00%
( ) ( ) ( ) (
24. 24 %
9. 75%
8.67%
( ) ( )
18, 8, 40 55. 14 % 24-12-25(20) W C 55%
W/ Cc(60 ), ( )
A=2 B=3
c=2 18-8-40B8B E=2
H=2 J=1 -
K=1 - ( )

© ©

=




SPK23040156 0 -0009

0. 00% : 100. 00% : 0. 00% : 0. 00%

44. 66% RT

30. 77% RT

11. 53% RT

EPOO1

o>
o

e

NN




SPK23040122 0O -0010
30m2 t=10mm
0. 00% : 63. 91% : 36. 09% : 0. 00%
( ) ( ) ( ) (
47 . 33%
16. 27 %
( ) ( )
36. 09% 10mm

10mm

A=1 1 30m2 B=1 t=10mm

© ©

© ©




7 3.

SPK23040025

’

38 % : 13.

48 %

0.

0

00 %

-0011

0. 8m3( 0.

6 m3)

( )
13.14%
32.67%
27.78%
12.93%
13.48%

mao >
o

RN

oW
i
NN

NN

© ©




0-0018

0 -0012
10 m2
0-0013
18-8-40BB . 70m_3 0.07*10
m2
m2
A=0. 07 B=2
Cc=1 D=7
E=3




18-8-40BB

. 00% 31.

SPK23040154

-0013

(

)

W/ C(

24-12-25(20)

W/ C 55%

XIO>»
TRETRNTINT!
RPN R

18-8-408

- ( )

< T
I n

PN W




0-0020

0 -0014
1000 m2
.50
.50
-28 0-0015
.9t 8 m3 .50

00




0-0021

-0015

0

28

9t

~
. N
N
<
o
—
—
I
1 mA
o o <
o o - (92]
. . . S
— (0)) - o]
— .
— o
~~
4
—~ (o))
9 - N
. N
N
~<
- O -
X . O
< O N
N —
- ~ ~— i
™M O
E
(o o I
.M (o))
o —
N — 1

<O




0-0022

0O -0016
1000 m2
.40
.40
-28 0-0015
.9t 8 m3 .40

00




0-0023

0 -0017
22x1524x3048,802kaq/ 22

( )
22x1524x3048,802kg/ 22.000
90
( )
22x1524x3048,802kg/ 1.000

1

1
A=3 22x1524x3048, 80R2kg/ B=1
cC=22 ( ) D=2




0-00214

0O -0018
1000 m2
.50
.50
-28 0-0015
.9t 8 m3 .50

00




0-0025

0 -0019
1000 m2
.40
.40
-28 0-0015
.9t 8 m3 .40

00




0-0026

0 -0020
22x1524x3048,802kaq/ 18

( )
22x1524x3048,802kg/ 18.000
90
( )
22x1524x3048,802kg]/ 1.000

1

1
A=3 22x1524x3048, 802kg/ B=1
c=18 ( ) D=2




( ) SPKN2304004 0 -0021
2.5m 4. 0m 1 m3
; 16. 95% 73.89% 16 % 0.00% 7
( ( ) ( ) (
> ( ) ( KTPCO0O0O0S5
0.28m3( 0.2 8.87% [ ] KTPTO00O0S
( 1,2,3 0.28m3( 0. 2m3)
> ( ( ) KTPCO0O0OQO
3 4t 8. 08% [ ] KTPTO00O0QO
( 1,2 3 4t
( ) ( ) RTPCO0O0O0QO
65. 25% RTPTO00O0Q
RTPCO0O0O0QO
8. 64% RTPTO00O0Q
TTPCOOO 1
, 2 4KL 9. 16 % TTPTO0OO 1
EPOO1
A=1 5m 4. 0m

© ©



0

-0022

0-0028

DI

15.

5km

(11]

5k m

)

0-00283




©

SPK23040002 0 -0023
DI D 15.5km (11.5km ) 1
25 % 38.07% : 15. 68% 0.00%
( ) ( ) ( ) ( )
] [ ] MT P C
46.25% 10t MTPT
( ) ) ( ( ) )
( ) RTPC
38.07% RTPT
TTPC
4KL 15. 68 % TTPT
EPOO1
A=1 B=1 0. 8m3( 0l 6m3)
c=1 ( ) D=1 DI D
E=3

15. 5km (1212.,5km )

~N ~




0-0030

( , H , ) 0 -0024
10km 12m 1
0-0025
10km 1
12m 30. 48t
1

A=30. 48 (t)




0-0031

0 -0025
10k m 12m 30. 48t 1
1.000
30. 480t
1
A=1 B=10 ( km)
c=1 12m D=30. 48 (t)




0

-0026

0-0032

. 48

. 48

A=30.

48




